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§ The circles shown are concentric at Q.
PZ and PY are tangent to the irmer circle
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Review Problem Set A, continued
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8 Given: AABC is isoscales, with base AB,
LDAC = 70° BC = 1807
Find: A and AD

XOY is a sector of 0.
Radius OY = 8 om and central 2 XOY = 45°
Find: & The length of XV

b The perimeter of sector XOY
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8 Circles A, B, and C are tangent as shown. . T _ Pt e
Al =7, BC = 10, and CA = 11, 7 &\ / \\ Eﬁ’f‘“i Y
a Find the radins of A, ( j:;p w}[—wg—;—r A | z‘f,j "’r e,‘.,t
b Which circle is the largest? -‘g* =y ‘\\ : \ AE / {il ® '%',fr
‘ : P TS A =
(jg "’)‘fj ?((f - k)z 1o ifg. .32 &@/\[{—;‘é’ ST S
' = g-(f N
i Ho—— =
g Giver: 00, UM L AB S : L.
Prove: OM bisects £ADB, (f?{,'s fl \\\ {5) oA AR { é_‘:
W0 KORLEOMA T 15 4
— e b Ta N
e ¢
10 Given: 0O, OF L WY, 00 L Y2, X _y OREaF ] e
ADPQ is isosceles, with bage PO //;/ ‘}\\\ AT o dics £ L
Conclusion: WX = Y2 7 e o) o =3 bis chord
b \ /! ACHAS /gw‘»e;gr “/e
v s &M T Ao | ¢ pore
_— — - .
o oM busdog Led & Lo
11 Given: ZX ond ZY are tangent ot X and Y. X
Prove: W7 hisects XY. XL ) 3
7 4‘{"\:_7 ey VA )
IR\
Ny S
o
‘ . " i ST e w L i é'i
m} L CEE s 'Z{; :> 2N, EF vaa,
e N = LY % ¢ ,-f...
hﬁ;{l Cg} E),.;‘- t:}mz‘;‘— 7 § . 'E;:"ii«if {’—-h« f 1 G ‘“‘,?m__}__
GPLEX, Saliyr| O 2y F &y 5 ¢ oo
T e Tave Yo SRR e e gt
by s = }}f 2 - c{xpe-'; g e c_i} Sal gy Gk L L - A
- 3 ﬂi?&b&s‘m‘ e:.u‘%if-'{mgmf o~ B R ol g\féﬁ—{
- ’l' o o ik o £
lox = ¥z T clomds & = s AloXe saloyz; KL
s{EF g1 C e
x foE bis &YW leb x bis




it Giver: ® O and P are éxternally tangent.
:, OA=8PE=2

pind: The length of common axternal
tangent AB :

: Problem Set B

. 48 [ g point is chosen at rapgom on OF,
what 15 the probability that it lies on
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18, Jim knows that O is inscribed in isos-
coles A ABC. He forgets which sides of
AABC are congruent but remembers that
AB = 14 and the perimeter is 38.
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Review Problem Set B, confinued

21 Given: OF, BG 1 AR, A
EC = ED 0
Prove; AD and BC are equidistant ] ,E F Aﬂ\\a ¢
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22 WXYZ is a parallelogram.
WZ and YZ sre tangent segments.

2 Show that WXYZ is a rhombus.
b Find masZ.

¢ HWY = 15, find the perimeter of
WXYZ.

d IfWY = 15, find XZ.

23 Find x and v, : o
o T ; 73‘/“)\ * < 3 L“
o 5 (s s \) A
7 { i+
‘ . Ty g ooz L8
— XFlk k\\\ib‘“‘ 5 J’% / ‘?;___“_
S . N\Q\%{/ o .

74 Find the area of 8 circle whose diameter joins the points (10, ~7)
and (—2, 10},

25 Find, to the nearest centimeter, the circumference of a circle in
which an 80-cm chord is q cm from the center.

Probiem Set C

26 Each circle below is inscribed in a regular pelygon and is cir-
cumscribed about another regular polygon.
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a If the length of a side of each outer polygon is 12, find the
length of 2 side of eech inner polygon,

b In each case, find the ratio of the sides of the sraaller polygon
to the sides of the larger polyson,




